Quick calculation reminders

Column Multiplication
96
32 x

192 <= thisis96x2
2880 <= thisis 96 x 30

3072 <= thisis96x 32

Add your two
answers together to
find the answer to
the original question.

Bus Stop Division

2 1 2 The workings out underneath
12 | 2 5 4 4 are not necessary, however
— 2 4 they do clearly show thinking.
1
-1 2
2
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Column Addition

u5 u5
+38 +38
3

Floca He nunbers ona on fop of the cther, lining up
the bens and enes.

Add the cnes and write the aswer urder the anes.

us us us
438 +38 438
3 ~ 83 83
1 1 1

Add the bens including any fens
eolumn. youve corried

REMINDER - Only ever add two humbers at

any one fime. If you need to add a third, start
another sum.

Check your mawer

Column Subtraction

O 53 O 3

-348 -348
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‘Subtract the tans: 40 - 80 = 0
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Borrow 10 from the 50 to give 13 enes.
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Check your anemer.




